—EALFEA L—F TS

=

(E4:[)
% B EEFE 29FEEFH 29FFEIRE
I —RIERMEEBOL
1 BEEROEH
(1) #BEILA
ZHRE 9,485,000 9,960,000 9,696,500
BA-FESESMESE 2,605,000 2,840,000 2,563,500
Hix-BhEEZNESE 6,880,000 7,090,000 7,095,000
BEA-AAEAEZMASSE 0 30,000 38,000
FEEUILA 7,700,000 14,704,000 17,655,388
FRERITEERA 1,000,000 1,200,000 1,016,082
PHEESEEIRA 1,500,000 1,800,000 1,481,000
FRIEEEEIA 0 10,000 17,082
EEsE (LPM/LAMP) BB £ IXA 1,100,000 11,694,000 15,141,224
Ef4iE (SLPC) EZEINA 3,800,000 0 0
EXOv—F IILILMNEBZEIRA 300,000 0 0
ZTOEBEE 0 0 0
ZHEBEE 0 2,890,000 4,900,000
ZEHBI R E 0 2,890,000 4,900,000
SZER— AR M S 0 0 0
HEEERMENSDIRESE 0 0 0
HEURA 0 1,000 430
ZEFE 0 1,000 430
AR 0 0 0
FEEIRAGT 17,185,000 27,555,000 32,252,318
(2) BEXZH
BEE 10,330,000 17,650,000 16,184,208
FRERITEEE 1,700,000 2,500,000 1,691,187
FHEBEREEE 3,200,000 3,500,000 3,124,465
EEsE (LPM/LAMP) B £% 800,000 11,650,000 11,368,556
ER=ESLPC)EXE 3,800,000 0 0
EXCr—FIILILMNE £ E 630,000 0 0
ZTOMEEXE 200,000 0 0
EHEE 10,440,000 10,540,000 9,988,693
HBEFL 6,400,000 6,700,000 6,388,882
wEAEEE 850,000 850,000 847,850
=& 100,000 150,000 128,639
RERBE 500,000 400,000 565,450
BISEWME 150,000 200,000 143,408
=h-¢: 140,000 60,000 58,882
ER, KE#HE 40,000 40,000 19,511
Btk 0 100,000 0
EHERARE 230,000 200,000 30,626
HERE 300,000 400,000 551,823
X¥BERE 530,000 570,000 507,600
R—LR—CEBRE 250,000 300,000 276,478
1J—X 140,000 120,000 136,606
ZHF HeR 30,000 100,000 28,944
EARE RN & 0 180,000 177,884
AR 350,000 70,000 70,000
e 230,000 100,000 56,110
FinE 200,000 0 0
BEZHE 20,770,000 28,190,000 26,172,901
LR EEEEE A 3,585,000 A 635,000 6,079,417
2 RBESMEBOER
(1) BENMAEGET 0 0 0
(2) BENZHEEE 0 0 0
LR SME R 0 0 0
L H — R IE DR BA EEHEIRER A 3,585,000 A 635,000 6,079,417
—RERMESNE RS 32,646,206 26,566,789 26,566,789
— R EREAESREE 29,061,206 25,931,789 32,646,206
I ETEEKEROS
L HAYE TE IE VR BA EE 1SR 28 0 0 0
EEERMENE RS 0 0 0
IEEERMENRES 0 0 0
I ERMEMERE 29,061,206 25,931,789 32,646,206
IR FEHRER

EA=#2534 % 10,000=2,530,000, £ 5154 x5,000=75,000
HiA& 81297 L774t X 50,000=3,850,000, FAK &>V &HY38%t X 60,000=2,280,000,
BRI 515% x50,000=750,000



